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cÖvß 

¯’vb

9 ingvZzjøvn 88 66 81 87 80 83 75 95 79 89 823 82.3 gygZvR 1g

10 Avwidzi ingvb 82 66 73 80 74 74 85 100 72 90 796 79.6 Rv:wR: 2q

11 gvngy ỳj nvmvb 80 56 67 71 65 67 73 95 69 88 731 73.1 Rv:wR: 3q

12 Bgivb 60 60 67 68 73 63 80 92 68 89 720 72 Rv:wR: 4

16 nvwmeyi ingvb 60 51 58 70 60 71 77 95 66 87 695 69.5 Rv:wR: 5

14 iweDj ‡nv‡mb 70 55 54 68 50 68 72 97 59 88 681 68.1 Rv:wR: 6

13 Ryev‡qi ûmvBb 45 49 67 72 52 58 72 100 71 85 671 67.1 Rv:wR: 7

15 wgivRyj Bmjvg 56 49 53 65 57 61 69 97 66 88 661 66.1 Rv:wR: 8

17 nvwdRyj Bmjvg 44 41 56 60 40 56 65 97 51 85 595 59.5 Rvwq¨` 9

19 BKivgyj Kexi 24 41 41 40 49 57 67 90 58 82 549 54.9 gvKeyj 10

21 mvwKe 46 45 49 41 19 42 65 95 52 82 536 53.6 gvKeyj 11

20 gvneyeyi ingvb 40 40 50 50 32 54 53 70 41 88 518 51.8 gvKeyj 12

18 ‡Mvjvg ivweŸ Lvb 27 43 47 46 34 54 63 90 40 90 534 53.4 ivwme 13

    wet ª̀t- †h ‡Kvb GK welq AK…ZKvh© n‡j gvKeyj Ges GKvwaK welq AK…ZKvh© n‡j ivwme wn‡m‡e we‡ewPZ n‡e|

    cix¶v_©x 13 Rb t gygZvR 01Rb, RvtwRt 07Rb, Rvwq¨` 01Rb, gvKeyj 03Rb, ivwme 01Rb|

      RvgvZ t RvjvjvBb

gy:Avjv=90-100 (cÖ‡Z¨K welq) 

gygZvR=80-89                          

Rvwq¨` wRÏvb=65-79                 

Rvwq¨`=50-64                          

gvKeyj=40-49                            

ivwme= 0-39


